Ch. 8 Review of Logarithms

| 1. Sketch & label 1 point: F{x) =e” gx)=Inx
p ol
g 4 C"BQ-} =
2. What is the relationship between the graphs? ezrrera e
State whether each sentence is true for F(x), g(xY}), both or neither:
3. The function is strictly increasing. —@("zé\) i 3(’%)
4. The function passes through (0,1). ”‘FC%)
5. The domain includes the positive real numbers. £ (x)* o 5”?6\}
6. The function has an asymptote at x =0 “”3(@
7. The range includes all real numbers | o (%)
Evaluate without a calculator:
8. log, 64 B 11. log10:000 4 14 it O
9. log, 16 4 12, logl O 5 645 ‘b
10. log, 125 13. Ine? & PR
16,362 Y,

Simplify using properties, then evaluate:
17. 10g20 +log5 18. logt000* 19. 10g3500 - log35

Aog o = g 4@!‘000 {4-3 ,@/a@%é&
WPEZ as a single logarithm:
20. logh +log3 : 22. 3logx +logl7

%) 175 24. %ogAHogE

£ 4

74
Simplify. NO CALCULATOR! Work starter, not harder!
25.10%° 27.10%%7 Z 7 . 29, & of T 31 ne® D

2l log8~log2 23. Elogcgogg B | %ﬁ (Aé‘@}

26. 1092 28. " A 30. " 93 32.log, 5 3
2 !



Solve, showing work algebraically {symbolically). Use a cajculator.
::3 2" =3 34. log, 34 35. log, 128

@ =i 2 e

= /. 5%% = L2947
o ¢ Lo G =L 35
e In3x =in(2x +17) 37.57 =32 W27, ¥
Bx = mxw“? T T s 155

38. Write wn‘hom‘ logs: log.x = 3!098 4iog 2% =22 {sz
& &&4\‘
fe % %?

Answer the following on ¢ sepam‘ie sheet of paper, showing work.

39. The population in the U.S. in 1990 was 250 mlli fjon, with con’ﬂnuous gr“owfh of %. When will the
pepulation be 300 million? B0 = A0 ¢ = 7. 252
L e m?m w%“@
S=a 40. The half-life of C-14 is 5730 years. If 63% of the originel £-14 remains in a skull,
=0.990 5% approximately how old is the skult? ©.63 = (©.9998¢

e L. e:/i@?@ 995ig) = 28/% 2430
41 Write the EQUATION only for each situation:
& di /eArsS b) continuous com ng at 6% for 3
a) deily compounding at %ésf@é} year ) continuous compounding a or éy@&)

;‘ﬁ oSk p o5k
P+ % s A1
42. An estimate for Earth's population £ in billions is £ = 4!:2\ 55 where v i5 the year. {(a)
Evaluate £ for v =1975  (b) Estimate f,i!g\ 2000. (c) When will the 1990 population be doubled?

O P40 P r b5 bainttion (&) 2025

43. The half-life of a certain substance is 30 hours. About how many hours will it take for an initial
o = ) B b
amount of & grams to decay to 2.5 grams? e @C}ﬁwf’ﬁ%

44. The intensity of sunlight ot points below the ocean is thought o decrease exponentiall y with
the depth of the water. One mode! for this situation ic I = ‘300{{\ 379\6. If special

ec;ummenT is needed for divers to see when the intensity drops below 0.2 units, at what depth (d'}
$ this equipment needed? f = & 5 QQL;L -

45. The population of Tanzenia in 1995 was about 28 7 million with an annual growth rate of 2.6%.
Assume the population changes confinuously. {a) Give an equation for the pepulation 77 years after
?99‘:‘ (b) PPE:",CI]CL he popuacdlon i 2000. (c) Predict wner the popuiation will reach 25 million,

o) Fal2%v.7e” &) B ¥ g o Rooz
46, A cerTa in radicactive sub¥fance has « half-fife of 4 hours, Let A be the original amount of the
substance and L the amount left after /4 hours. {a) Give an exponential model for £ in terms of A
o, and /. (b} Wrm* percent of the opiginal amount of the ::UDS'GHCL, will remain after 7 hours?
& L= A (owdogye h@ o 89 7802.%
47, The formule logw = -2 866 + 2.7 722l0gh estimates the normal weight W of a girl inches
tafl. Estimate the normal weight of g giri who is 55 inches tall,
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